2015 Math 3A Final Examination

                              Name:___________________ Score: __________________

1. Arrange the numbers in order: (Begin with the greatest)  

(a) 8218, 8812, 8128  (2 points)

(b) 8544, 8454, 8445  (2 points)

(c) 4316, 5236, 4264, 5219  (2 points)
2. Complete the following number patterns.
(a) 6342, 6352, 6362, 6372, _______ (2 points)
(b) 3098, 3198, ________, 3398, 3498  (2 points)

(c) 8902, ________, 8882, 8872, 8862  (2 points)

(d) _______, 7695, 7595, 7495, 7395  (2 points)

3. Find the value of each of the following: (3 points each×16 = 48 points)
(a) 5384 + 2630 =                              3589 + 2443 =
(b) 7065 – 2336 =                              5673 – 3454 =
(c) 415 ×5 =                                  3 ×284 =
(d) 47 ×6 =                                  582 ×9 =
(e) 84 ÷7 =                                   112 ÷8 =
(f) 426 ÷6 =                                  (d) 945 ÷9 =

(g) $14.85 + $26.15 =                            $45.60 + $35.95 =
(h) $40.05 – $16.30 =                            $52.30 – $30.70 =
4. Find the quotient and remainder for each of the following: (2 points each×3 = 6 points)

(a) 21 ÷4    Quotient:        Remainder:    

(b) 67 ÷5    Quotient:        Remainder:

(c) 700 ÷3    Quotient:        Remainder:
5. Word problems. (Please write each step when solving these questions)
(a) 1 lb of prawns cost $4. Mary bought 7 lb of prawns. How much did she pay? (4 points)
(b) Tom bought 9 T-shirts and totally paid $144. How much did one T-shirt cost?  (4 points)
(c)Alex filled 6 boxes with 10 apples in each box. There were 4 apples left over. How many apples were there altogether?  (6 points)
(d) A baker needs 8 eggs to bake a cake. He has 150 eggs. 
How many cakes can he bake? (3 points)
How many eggs will be left over? (3 points)
(e) Rebecca bought 3 boxes of donuts. There were 8 donuts in each box. She divided all the donuts equally among 6 people. How many donuts did each person receive? (6 points)
(f) Sam spent $7.80 on breakfast. He spent $1.15 less on lunch than on breakfast. After he had lunch, he still had $2.50 left. How much money did he have at first? (6 points)

